

ESEMPIO:

$$\frac{13}{12} + \frac{19}{12} = \frac{13 + 19}{12} = \frac{32}{12} = \frac{8}{3}$$

ESEGUI LE OPERAZIONI, RIDUCENDO AI MINIMI TERMINI DOVE È POSSIBILE.

a) $\frac{7}{4} + \frac{3}{4} = \frac{\quad + \quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad}$

b) $\frac{5}{2} + \frac{12}{2} = \frac{\quad + \quad}{\quad} = \frac{\quad}{\quad}$

c) $\frac{1}{6} + \frac{23}{6} = \frac{\quad + \quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad}$

d) $\frac{13}{8} + \frac{7}{8} = \frac{\quad + \quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad}$

e) $\frac{7}{10} + \frac{3}{10} = \frac{\quad + \quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad}$

f) $\frac{4}{7} + \frac{12}{7} = \frac{\quad + \quad}{\quad} = \frac{\quad}{\quad}$

ESEGUI LE OPERAZIONI, RIDUCENDO AI MINIMI TERMINI DOVE È POSSIBILE.

$$a) \frac{16}{5} - \frac{4}{5} = \frac{\quad}{\quad} = \quad$$

$$b) \frac{6}{3} - \frac{2}{3} = \frac{\quad}{\quad} = \quad$$

$$c) \frac{24}{9} - \frac{17}{9} = \frac{\quad}{\quad} = \quad$$

$$d) \frac{8}{21} - \frac{5}{21} = \frac{\quad}{\quad} = \quad = \quad$$

$$e) \frac{44}{5} - \frac{28}{5} = \frac{\quad}{\quad} = \quad$$